
[8] Valuation (Analysts Only) For the current year, company XYZ earned EBITDA of $350M. Their depreciation/amortization expense was $125M, interest expense was $75M, and tax rate was 21%. Their current market cap is $1,350M. For the following year, company XYZ has given EBITDA guidance of $550M. Their depreciation/amortization expense, interest expense, and tax rate will remain the same.

1.Show your steps in calculating net income for the current year and the trailing P/E ratio.
Answer:

EBITDA    $350
-D&A      $125

 EBIT      $225

-Interest  $75

EBT       $150

-Tax       31.5(21%*150)

NET income $118.5 Million

PE Ratio = Market Cap / EBITDA  = 1350/350 = 3.86
2 Show your steps in calculating net income for the following year and the forward P/E ratio. 

EBITDA    $550
-D&A      $125

 EBIT      $425

-Interest  $75

EBT       $350

-Tax       73.5(21%*350)

NET income $276.5 Million

Forward PE Ratio = Current Share Price / Estimated Future Earnings per Share Forward 

What rate of return does the forward P/E ratio from question 2 correspond to?

550 = 350(1+r)   r = 0.57

